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TERMINAL EXAMINATION
COMPUTER SCIENCE

STD:5A,B,C MARKS : 60
NOTE : SECTION A TO BE DONE ON THE QUESTION PAPER
SECTION B TO BE DONE ON ANSWER SHEET

NAME :
CLASS : DIV : ROLLNO :
SECTION A
|.  MULTIPLE CHOICE QUESTIONS : (8 MARKS)
(Tick the correct option)
a. In Ms Word, the shortcut key to Find is and to
Replace is __
i) Ctrl+H,Ctrl+F i) Ctrl+F, Ctrl+H
iii) Ctrl+F, Ctrl +R iv) Ctrl+R, Ctrl+F
b. Which of the following was the first mechanit_:al calculator ?
i) Pascaline i) Mark1
iii) Leibniz Calculator iv) Abacus
c. In Ms Word, to close header and footer use key.
i) Enter i) Tab
iii) Shift iv) Escape



d. Modern age computer that is portable in size and have touch
screen and a virtual keyboard.

i) Laptop ii) Tablet
iii) Desktop iv) All of these

e. With indent the text area is always narrower than
the space between the margins.
i) Positive ii) Negative
iii) Hanging iv) Justified

f. was an early proto computer.
i)  UNIVAC ii) Pascaline
iii) Harvard Mark | iv) EDVAC

g. In generation computers, vacuum tubes were
used.
i) First ii) Second
iii) Third iv) Fourth

h. Which of the following objects can be inserted in a Word
document ?
i)  WordArt i) Symbols
iii) Pictures iv) All of these

. NAME THE FONT EFFECT : (3 MARKS)

a) Xy :

b) abe-:

) X ¢




[ll.  FILLTHE MISSING SOFTWARE CATEGORIES : (6 MARKS)

SOFTWARE

IV.  NAME THE FOLLOWING :
a) FULL FORM OF EDVAC
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(6 MARKS)

b) The default setting for all four margins in Ms Word




V.

c) NAME THE INVENTOR OF DIFFERENCE ENGINE

d) This OS is based on memory economy and high program speed.

e) Two other names for Operating System

f) The default line spacing in Ms Word

Application Based Question : (3 MARKS)

(Spelling mistake % Mark cut)
a) Rahul wants to make bibliographic entries. Which indent should

he use for it.

b) Pratik wants to include the title and date of creation on every

page of the document. Which option should he use.

c) In a document, Bina wants to increase the amount of vertical

space between the lines of text in a paragraph. Which option in
Ms Word should be used.




SECTION B

|. Explain in detail about ABACUS (3 MARKS)
ll.  What are the characteristics of computers ?
(explain any 3) (3 MARKS)
Ill.  What is orientation ? Name the two types of orientation. Which is
the default orientation ? (3 MARKS)
IV. ldentify the logo and where it is used (6 MARKS)
NAME OF THE LOGO USED

V. WRITE SHORT NOTE ON : (8 MARKS)

a) Operation Support System
b) Jacquard Loom
c) First generation computers (no examples)(two points)
d) Application Software
V. Whatis the use of screen saver ? (2 MARKS)
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Vl. DIFFERENTIATE BETWEEN : (one point each) (6 MARKS)

a) Decimal tab and Bar tab
b) Backup Software and Data compression utilities

c) Desktop Computers and Laptop
VIl. Explain any three limitations of computers (3 MARKS)



